STYKLISTE

Side 1

MODEL 1902

Pos. Art.nr. Betegnelse Stk.  Note
001 911128-8 KOMBI-SKRUE M4X16 (HR4000C) 1
002 152122-3 SUGESLANGEADAPTER(1923B) 1
003 271231-0 INDSTILLINGSKNAP 46 1
004 812004-8 DYBDESKALA (1125) 1
005 941251-5 UNDERLAGSSKIVE 10 1
006  159983-2 MOTORHUS 1
007 859017-8 TYPESKILT (1902) 1
008 682502-4 KABELBESKYTTER 8-85 1
009 665394-6 LEDNING 1
010 687052-4 KABELKLEMMEPLADE (4100NB) 1
011 911133-5 SKRUE M4x18 (BO4510) 2
012 651239-4 AFBRYDER (1902) 1
013 4111704 DAKSEL (1900B) 1
014 911148-2 SKRUE M4x25###(911546-0) 4
015 211061-7 KUGLELEJE 6000LLB 1
016  961015-1 STOPRING E-9 1
017 241510-0 FAN 52 1
018 511938-9 ANKER (1902) 1

INC. 15-17,19,20
019 681614-0 ISOLERINGSSKIVE (NHP1300S) 1
020 211028-5 KUGLELEJE 627LB#i##(210025-8) 1
021 599314-7 FELT 1
022 911128-8 KOMBI-SKRUE M4X16 (HR4000C) 1
023 4111534 SPANABWEISER 1
024 181021-2 KULSAT CB-51 1
025 643550-8 KULDAKSEL 5-8 2
026 231004-3 TRYKFJEDER 18 (1125) 1
027 421007-7 GUMMIPAKNING 1
028 316963-3 GRUNDPLADE FORREST 1
029 911226-8 KOMBI SKRUE###(911230-7) 4
030 316964-1 GRUNDPLADE 1
031 211032-4 BALL BEARING 6082Z 1
032 161061-6 HGVLKNIV 1
033 911586-8 PAN HEAD SCREW M4X60 2
034 152565-9 LEJEDAKSEL KPL. 1
INC. 38,43

035 911148-2 SKRUE M4x25###(911546-0) 6
036 222145-6 REMHJUL 4-18L 1
037 411019-8 REMDAEKSEL (1900B) 1
038 263002-9 GUMMISTIFT 4 1
039 911148-2 SKRUE M4x25###(911546-0) 2
040 225071-8 REM 4-241 1
041 222146-4 KILEREMSHJUL 4-38 1
042 211062-5 KUGLELEJE###(211061-7) 1
043 263002-9 GUMMISTIFT 4 1
044  343433-9 TRYKPLADE###(A-86175) 2
045 342430-2 INDST.VINKEL###(345644-2) 2
046 251246-3 SKRUE (1900B) 4
047  345007-2 TRYKPLADE (1900B/1) 1
048 251609-3 6-KANT SKRUE M/FLANGE M6X17 6
AO01  123062-2 KNIVINDSTILLER (1923B) 1
A02 782209-3 TOPNGGLE 9 1
A03 A-82921 T.C.T. MINI PLANER BLADE 1
A04 824944-8 TRANSPORTKUFFERT (N1923B) 1
EO5 652008-6 SCHRAUBE M83,5x7 4
EO6 654509-0 CONNECTOR 2-SD 1
E07 645253-0 KONDENSATOR 1
EO8 652259-1 SCHEIBE 4
E09 654051-1 EARTH TERMINAL 1




EKSPLOSIONSTEGNING

MODEL 1902

Y

| es\éi, 7 -
6 &
o L T

9
8 'F\
™~

Ny =Syt s
AT ST
L | T

o+ é/ s 223/ A
o ™ > \\3/L1\9

& i, 18
17




